5t 126160 2N 35 -3 = S ES"
]'E”i 11-1 1087 274 B 8 & 4 3= 53 #RN

5 A

BB TR RS HIER

YRR 2 TR

Wi d O RTTIFEE
O LR féfﬁ;%%é’@ﬁia BRRBAR GRS L 0 ALY FEE 0 73 30
—)*‘%’LP %_E, [ E\‘&/@AE\HP’)@IQ"*%]}Z}?%ngo

- ﬁ“&iwﬁﬁégiﬁﬁﬁﬁ?%?@?%’%ﬁmﬁﬁﬁiiﬁ

B F Ay g SR o e AR e £ 0 Ry K PP

‘~*MV%§ﬂm¢ﬁ£ﬁﬁ SRR B FE S Rameg
Fé 12 kY L RAIER D R R ’;ﬁ»rjﬁﬂ%ﬁf@@f e (7R

P °(25l~\)

1

‘ ﬂ'f]f@% “i;f%ﬂgmﬂ Tt fﬁr%t @4),!.%/2_;1159«7,&-%7 P\%‘ﬁj’i\'pg//—"
iR B R B RERFPEAEI L AP AR F B
BAF PiTE o (254 )

s B B @aﬁéﬂﬂ#ém*”» ?%;%’ﬁﬁﬁﬁ
& Fl% &*&ﬂﬁﬁv‘ TRBRE FREEN ;‘ %’*gii@ﬁ%l
4| (integrated land-use and transportation model ) » T ﬁﬁ
HEF LD (254)



